2.1 A Little Dash of Logic - day 2 and 2.1 And Now From a New Angle - ASepteinbek 10, 2015

Questions on lesson 2.1 so far?
Look over Lesson 2.1's homework,

we will be taking our content
Y ®A

mastery quiz soonl!

L —
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PG.127 IN YOUR BOOK

PROBLEM Why Is This False?

There are two reasons why a conclusion may be false. Either the assumed information is
false, or the argument is not valid.

1 1. Derek tells his little brother that it will not rain for the next 30 days because he “knows
everything.” Why is this conclusion false?

To show that a statement is false, you can provide a counterexample. A counterexample is
a specific example that shows that a general statement is not true.

5. Provide a counterexample for each of these statements to demonstrate that they are
not true.

a. All prime numbers are odd.

Aug 24-1:54 PM
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s> | A Little Dash of Logic

DAY 2

PG.128 IN YOUR BOOK

PROBLEM You Can't Handle the Truth Value

@

= =]
=3

Consider the conditional statement: If the maas‘z;g of an angle is 32°, then the angle is acu

1. What is the hypothesis p?

2. What is the conclusion g7

A conditional statement is a statement that can be written
in the form “If p, then g.” This form is the propositional form
of a conditional statement. It can also be written using
symbols as p — g, which is read as “p implies g.” The
variables p and g are propositional variables. The
hypothesis of a conditional statement is the variable p. The
conclusion of a conditional statement is the variable g.

The truth value of a conditional statement is whether the

statement is true or false. If a conditional statement could be

true, then the truth value of the statement is considered true. .8
The truth value of a conditional statement is either true or _‘
false, but not baoth.

You can identify the hypothesis and conclusion from a conditional statement.

Conditional Statement
If x* = 36, thenx =6orx = —6.

Hypothesis of the Conditional Statement
x2 =36

Conclusion of the Conditional Statement
x=6orx= —6.

Oﬁhes\s oovcluson

Aug 24-1:41 PM
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PG.128 IN YOUR BOOK

3. Ifp is true and g is true, then the truth value of a conditional statement is true.

a. What does the phrase “If p is true” mean in terms of the conditional statement?

b. What does the phrase “If g is true” mean in terms of the conditional statement?

c. Explain why the truth value of the conditional statement is true if both p and g are true.

TAKE 5 MINS TO WORK ON PG.129

Sep 8-8:48 AM
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PG.130 IN YOUR BOOK

A truth table is a table that summarizes all possible truth values for a conditional statement
P — q. The first two columns of a truth table represent all possible truth values for the
propositional variables p and g. The last column represents the truth value of the conditional
statement p — q.

The truth values for the conditional statement “If the measure of an angle is 32°, then th%\e\Sh

angle is acute” is shown.
[N iU :

=3
== The truth value of the conditional statement p — g is determined by the truth
value of p and the truth value of g.
=3 . If p is true and q is true, then p — q is true. ¥‘J q 'D—) Q
& 3 ¢ Ifpistrue and g s false, then p — q is false. '10 !
= = * |fpisfalseandq istrue, thenp — q s true. < F
=S * |f pis false and q is false, then p — q is true. ' :
== E ltl? f T
p q p—ogl |\
=3 If the measure of an angl
= . gle
?:an;e?:?smsg the:::rlﬁée 1S is 32°, then the angle is
=3 - acute.
= T T T
T F F
=3 F T T
= F F T
=3

po%hesis

7. Consrder H]Joondmonal statemen&mﬂﬂ =6 |nches and mBC = 6 inches, then

a. What is the hypothesis p?

b. What is the conclusion g7

c. If both p and g are true, what does that mean? What is the truth value of the
conditional statement if both p and g are true?

Sep 8-8:48 AM
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PG.132 IN YOUR BOOK

PROBLEM i} Rewriting Conditional Statements

For each conditional statement, draw a diagram and then write the hypothesis as the

E “Given” and the conclusion as the “Prce.re.”
(o

1. If @_bis_e;?;rg_‘gﬁﬂﬂ, then LABD = .chp..
Given: Eg b‘gc{-s LAK

Prove:

LABD SLCBD

Sep 8-8:49 AM
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And Now From

a New Angle

PG. 136-7 IN YOUR BOOK

Two angles are supplementary angles if the sum of their angle measures is equal
to 180°.

Supplewertary
that share a

Two angles are :@Fﬂum@ntﬂrﬁlr angles if the sum of their angle measures is eﬂual to 90°,

Sep 10-8:21 AM
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PG. 139 IN YOUR BOOK

Determine the angle measures in each diagram.

,2%__3\'4,,: ° qo: ()\F\“’D’f (’).)H’TD)
R Y
3.8

PG. 140TN YOUR BOOK
PROBLEM Angle Relationships

E YYou have learned that angles can be gupplementary or complementary. Let’s explore other

angle relationships. \\ 3( )(0 .
W e sde/ray

s

=3

£1 and £2 are adjacent angles. £5 and £ 6 are not adjacent angles.
=3 —_—
=3
== J 6
=3 1\ 2
==
& 3 _,3ands4are adjacent angles. £ 7 and £ 8 are not adjacent angles.
=3 - -

3 4

=3 .
=3 8
= p:]

Sep 10-8:24 AM
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PG. 142 IN YOUR BOOK

£1 and £ 2 form a linear pan’, Q&S and 6d ot form a linear pair.
== a\é»@
=3 1

2

£ 3 and £ 4 form a linear pair. £ 7 and 8 do not form a linear pair.

PG. 144 IN YOUR BOOK

£ 1 and » 2 are vertical angles. £ 5 and £ 6 are not vertical angles.

=3 _—

&= s3and 24 are vertical angles. £7 and £8 are not vertical angles.

=3

=3
=3

Sep 10-8:25 AM
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NOT IN YOUR BOOK

8. Identify each of the following in the figure.

a. Name two pairs of complementary angles. c¢. Name four pairs of angles that form linear pairs.

LAGDY LP6L

b. Name six pairs of supplementary angles.

Z 1: G E ﬁ L EG‘D d. Name two pairs of vertical angles.

L?)GC‘?‘\EYG

Sep 10-8:25 AM
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PG. 146 IN YOUR BOOK

4. Determine m2AED. Explain how you determined the angle measure.

Make sure o
carefully read the name
of the angle whose weasure
you wawct to know.

PG. 148 IN YOUR BOOK

A postulate is a statement that is accepted
without proof.

A theorem is a statement that can
be proven.

The Elements is a book written by the Greek
mathematician Euclid. He used a small number of
undefined terms and postulates to systematically
prove many theorems. As a result, Euclid was able
to develop a complete system we now know as
Euclidean aeometrv.

Greek mathematician Euclid is sometimes
referred to as the Father of Geometry.

Sep 10-8:27 AM
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*For each of these postulates, sketch a picture in your
text, that is a question for your homework*

PG. 150 IN YOUR BOOK

The Linear Pair Postulate states: “If two angles form a linear pair, then the angles
are supplementary.”

PG. 151 IN YOUR BOOK

The Segment Addition Postulate states: “If point B is on AC and between points A and C,
then AB + BC = AC.”

PG. 152 IN YOUR BOOK

The Angle Addition Postulate states: “If point D lies in the interior of 2 ABC, then
mLABD + msDBC = m.ABC.”

Sep 10-8:28 AM
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Homework

Finish lesson 2.1 & 2.2

Aug 24-2:00 PM
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